L attice multiplication with two three-digit numbers (3x3)

Solutions are on page 2

@ ® 638 x527 = ® 946 x833 =
087 x 654 = 645,498
9 8 7
5+1 4+2 4+1 ‘o
6174|8720
a4,/ 14,/13
41757075 °
3,/13/|2
576|727 8] 4
4 79 78
@ 865x 154 = ® 309 x507 = ©® 707 x 905 =
281 x 806 = ® 542 x 347 = ® 792 x 645 =
@9 931 x 756 = ™ 992 x 613 = @2 742 x 959 =
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L attice multiplication with two three-digit numbers (3x3)

Also see the Worksheets and Walkthroughs video: 'Multiplication--The Lattice Method'

1) (2 (3)
987 x 654 = 645,498 638 x 527 = 336,226 946 x 833 = 788,018
9 8 7 6 3 8 9 4 6
5+1 4+2 4+1 4 3+o 1+1 4+1 q 7+0 3+1 4+2 4
6174|8720 3705 0]° 272|788
ArYAE AIVAR 2,/ 11/ 1
41517052 372766 2 8|77 28| 3
YALYAL 4,12,/ |5 2,/ 11/ 1
576|727 8| 4 6l 217176 7 8|77 28| 3
4 79 78 2 72 76 0o 71 78
(4) (5) (6)
865 x 154 = 133,210 309 x 507 = 156,663 707 x 905 = 639,835
8 6 5 3 0 9 7 0 7
0+]_ O+l 0+l A 1+O O+O 4+O Lol 6+O 0+0 6+O A
1787675 1 117570 5] ° 617303 °
4,13,/ |2 010/ |0 010/ o
3107075 ° s 707000 3707000
3,/ |2/ |2 YAYAD 3,/ 10/|3
317217470 4 61717037 91”5705 °
2 71 70 6 76 73 8 73 75
(7) (8) 9)
281 x 806 = 226,486 542 x 347 = 188,074 792 x 645 = 510,840
2 8 1 5 4 2 7 9 2
1+1 6+0 0+1 0 1+0 1+O 0+2 # 4+1 5+2 1+1 #
2176|488 1757276 3 5| 2420
0o/ lo/|o 2/ 11,/ o 2,13,/ 0
217070 0| © g0 6| 8|4 117787678 4
WALYAL 3,/ 12,/ 1 3/ 14,/ |1
61727860 g| 75|78 4|l " o755 0] °
4 '8 76 0 77 74 8 74 70
(10) 1) (12)
931 x 756 = 703,836 992 x 613 = 608,096 742 x 959 = 711,578
9 3 1 9 9 2 7 4 2
6+1 2+1 O+l A 5+l 5+1 1+2 40 6+1 3+2 1+1 40
73 7] 6|4 al/3) 8 71731767 8) °
4,110 010/ o 3/ 12,/ 1
ol 575 5| ° ol 979 2|1 117517070 °
5,1/ |0 2/ 12,/ 0 6,/ (3|1
31478 6| © s\ 77 76| 3 17376 78| °
8 73 76 0o 79 76 5 77 78
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